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PART-A

Answer any FIVE questionsin about 75 wordseach. Each answer shall carry the maximum marks
of four only. (5x4= 20 marks)

01. Why does market fail in providing public goods?

02. What is meant by the allocation function of a flqoalicy?

03. What is the “spill-over effect” consideration irdging a public project?

04. Why is there a divergence between private and bo@eginal rates of returns and costs?
05. Distinguish between real and pecuniary costs.

06. lllustrate with a diagram average cost pricing oblc goods.

07. What are shadow prices?

PART-B
Answer any FOUR questionsin not exceeding 300 wor ds. Each answer shall carry the maximum
marks of ten only. (4x10=40 marks)

08. Assess Wicksell's theory of public goods allocation
09. What are the difficulties involved in revealing sdgreferences through majority voting accordi
to Arrow?

10. Explain the concepts of displacement, inspectiah@mncentration effects with respect to publig
expenditure.

11. How can the concept of consumer surplus be usedaluating the social benefits associated wi
public project?
12. Explain the various types of crude investment gete

14. What are the issues related to the burden of pdelit?

PART-C
Answer any TWO gquestionsin about 900 wor ds. Each answer shall carry the maximum marks of
twenty only. (2x20=40 marks)

the model in general equilibrium terms?
16. What is PPBS? Bring out its relative merits ovaditional budgeting methods?

How can we employ disinvested funds of PSUs ind@di
18. Outline some of the aspects of public debt managerdéscuss them in the Indian context.
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15. Critically evaluate Voluntary Exchange model of Bowand Lindahl.How did Samuelson restate

17. Examine the rationale of Disinvestment policy wigigard to PSUs pursued by the Government.
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13. “PSUs are not so important for Indian economic tiguaent in the liberalized era.” Do you agree?




